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B. Se. (Part II) EXAMINATION, 2019
(New Course)
CHEMISTRY
Paper First
(Inorganic Chemistry) :
Time : Three Hours | [ Maximum Marks : 50
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Attempt questions from all Sections as directed.
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The candidates are required to answer only in
serial order. If there are many parts of a question,
answer them in continuation.
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All questions in this Section are compulsory. Each

question carries 3 marks.
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Why do transition  clements  show  varjable
valency 7
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Why arc Pt, Pd and Au called noble metals ?
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Why sccondary valency of co-ordination
compounds is non-ionisable ?
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Why do transuranics have several stable and
unstable lsolopcs ?
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KMnO; is a strong oxidising agent but its
aqueous solution is stable.
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Why a mixture of Ammonium Chloride and
Ammonium Nitrate, in molten condition, acts as
aquaregia ?
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Attempt any two questions. Each question carries
8 marks.
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Why do d-block elements form non- stonchlomemc
interstitial compounds ? Give few examples and their

applications, . 8
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Why few pairs of transition metals, in spite of having

4d and 5d electrons respectively, show close
resemblance in their physical and chemical properties ?
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With the help of suitable examples, describe isomerism
exhibited by co-ordination compounds. -x
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How do Chelates differ from Ligands ? Why chelation
makes co-ordination compounds more stable 7 Give
examples of polydentate ligands.
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Attempt any fwo questions. Each question carries
8 marks.
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How are Neptunium and Plutonium separated from
Uranium ? What are major applications of these

elements ?
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Discuss steps of balancing a redox reaction of
K,Cr,0, in HCI through oxidation state method.
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Calculate equivalent . weight of KMnQO, in its

reactions in acidic and basic media (Mol. wt. of
KMI’IOq = 158).

8, TAI-UeTE URBUTT & IWR W IFA-&R qasV| 34

IR B FHER § ? 8

Explain Lux-Flood concept of acid-base. What are its
limitations ?
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Describe the process of Ammonolysis and Ammoniate
formation. What are the advantages and limitations of
using liq. NH; as a solvent ?




